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BCOLA-138 : BUSINESS COMMUNICATION
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Note: (i) Attempt any five questions.

(it) All questions carry equal marks.

1. Define communication. What do you mean by
barriers to communication ? Describe various

personal barriers. 4+4+12=20

2. What is oral communication ? Explain the
advantages and disadvantages of oral
communication. How can oral communication
skills be improved ? 4+8+8=20

3. What do you mean by business communication ?
Explain different types of  business
communication with the help of appropriate
illustrations. 4+16=20
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4. (a) “The form and wordings of business
correspondence determine its attraction
value.” Describe this statement.

(b) Discuss various arrangements or parts of a
letter. 10+10=20

5. (a) You are the proprietor of a hosiery retail
house. Write a letter to Messrs XYZ, New
Street, Kolkata for placing an order of the
following items :

1) Ladies gowns — 100 pieces
(i1) Baba suits for children — 100 pieces
Mention in the letter the imaginary numbers

and prices for each item given in the
catalogue.

(b) You are the publicity manager of an Event
Management Company. Prepare a press
advertisement for  popularizing the
company. 10+10=20

6. What is a business report ? Discuss essentials of
a good report. 4+16=20

7. Explain the concepts of the following
words/phrases used in the business world, with
suitable examples : 5x4=20

(a) Acquisition

(b) Affiliate Marketing

(¢) Disinvestment

(d) Incubation

(e) Start-up
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8. Write notes on any two of the following : 10+10=20

(a) Kinesics
(b) Precis
(c) Employee Empowerment

(d) Preparation of CV
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(@) oy (Fgag) fouvm (Affiliate Marketing)

() faffesr (Disinvestment)

(¥) s (Incubation)
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(%) W@¥imM (Kinesics)
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